,o(a)=2a-1 a 2
o(a) = 2a o(a)=2a—-1
2

o(a) wla) )
2 a—2p(a)

a—2p(a) =0 a ,

z a — 2p(a) x a

r>—1 . z < -1 , X ,



a wla)  a—2p(a)
3 3] 2 -1
15 [3,5] 8 -1
255 [3,5,17] 128 -1
2 [2] 1 0
4 2,2] 2 0
8 [2,2,2] 4 0
16 2,2,2,2] 8 0
32 2,2,2,2,2] 16 0
64 [2,2,2,2,2,2] 32 0
128 [2,2,2,2,2,2,2] 64 0
256 [2,2,2,2,2,222] 128 0
512 [2,2,2,2,22,22.2] 256 0
6 [2,3] 2 2
10 [2,5] 4 2
14 [2,7] 6 2
22 [2,11] 10 2
26 [2,13] 12 2
34 [2,17] 16 2
38 [2,19] 18 2
46 [2,23] 22 2



2: a— 2¢(a) ;

pla) a—2p(a)

195 [3,5,13] 96 3
12 2,2,3] 4 4
20 [2,2,5] 8 4
28 [227] 12 4
44 22,11 20 4
52 [2,2,13] 24 4
68  [2,2,17] 32 4
6 [2,2,19] 36 4
92  [2,2.23] 44 4
165 [3,5,11] 80 5
18 (2,3,3] 6 6
214 [2,22.3] 8 8
40 [2,2,2,5] 16 8
56 [2,2,2,7] 24 8
88  [22211] 40 8
104 [2,2,2,13] 48 8
136 [2,2,217] 64 8
152 [222,19] 72 8
184 [22223] 88 8
T
z a—2p(a) ==z
;2 =0,2,4,8 )
Tr =

z=-1

z=0 a = 2°. 2

T =248 a=2p,(p

=26 a=18

a—2p(a)=-1

3 , 256 =3 x5 x 17
p( ) ( ) p

(11

.3,5,17

9



P
17
( ; ) 18
1:
p>2 P (1,0)
( )
(1,0) 1+0: , P (1,0) ¢
p =1 :
¢ XP-1=0 . ¢ = cos(2m/p) + isin(27/p).
Xr—1
XP—1=(X-1)(XP 4 XP24...41)
F(X)=XP 14 XP24...41 ,
p F, p—1



Q p-1
, 1
e , Q
T K .
2 K Q 2"
p=2"+1 2T+ 1 r
r=2"
5
fn:22naFn:fn+1 {fn} {Fn} - Fy
n=>0
an — (22")2 — 22"+1 — fn+1.
fn2 = fn+1-
3:
0 2 3
1 5
2 16 17
3 256 257
4 | 65536 65537
n=0,1,2,3,4
n>>5 F,
Fy = 4294967297
4294967297 = 641 x 6700417
n Z 5 ( ’
1
5.1
An,y an =y Fs--- F,

Opy1 = o - - FoFp g = an P

Ony1 = k.

,p—1=2"

p=22"+1



n=0 . L a=F=2+1=3f-1=4-1=3.

n>0 7'[7/_1 7an—1:fn_17Fn:fn+1

an = ap-1Fy = (fo—D(fn+1) = (fn)2 —1=fop -1

n<4 Fn o(Fn) = fn b = p(an)

b = @(an-)¢(Fn) = plan-1)fa = fofifo-- fx
bn — 21+2+22+...+2n _ 22n+1_1

on+1

2xb, =227 = foi=an+1

an — 2¢(ay) = ap — 2b, = —1.

4:
n an by,
0 3 [3] 2
1 15 [3,5] 8
2 255 [3,5,17] 128
3 65535 [3,5,17,257] 32768
4 | 4294967295 [3,5,17,257, 65537] 2147483648
6
a—2p(a) =-1
a 7



(1) ,a 1

,Q P a p e Le>1 wla) p
a—2p(a) p (1)
GZQQO(G)—l a . , A P1sP2, " s Pr
a=1}_1pj, p(a) =1l7_;(p; — 1) : a=2p(a) -1
a=pip2(p1 <p2) a=2p(a)-1 P —=2)(p2—2)=3,p1=3,p2=5

a = p1pap3(pr < p2 < P3)

6.1
ia 3 .
a = 3ko ko 3 ey 2¢(a) = 2¢(3ko) = 4¢(ko).
20(a) =a+1=3ko+ 1.
3ko + 1 = 4p(ko). (2)
ko=1 ,a=3,20(a)—1=4-1=3 a=3
ii. ]{70 5 . ]{70 == 5]{71 5

4p(ko) = 4p(5k1) = 40 (k1)

3kg+1 =15k +1
15k1 + 1 = 4%p(ky).

k=1 La=152p(a)—1=2x2x4—1=15 a=3x5
(11:15,f2:42. a1:f2—1.
]{71 >1 ,]{71 P kl :pkg 15k1+1:15pk2+1

15k + 1 = 4%p(ky) = 42p(pks) = 4% x (p— Dip(ks) < 4% x (p — Do

15pks +1 < 42 x (p — 1)ks.

1< (@ x(p=1)=15p)ks = (p — 16)k>.

iii.p 16 p:17 . k1:17k2,a:3><5><17><k2

20(a) =20(3 x5 X 17 X ko) =2 x 2 x4 x 16 x (ko).



a—2¢p(a) =-1
3x5X1TX ks =2x2x4x16 X p(ks) — 1.
as =3 x5 x 17, f3 = 42 x 16

azky = fap(ks) — 1

]{72:1 a2:f3—1:255. 2(10(0,2):.]“3:(1,2—}—1 a2:15><17

iv. ke >1 ko p ko = pks

asks = aspks = fap(k2) — 1 = fap(pks) — 1= fa(p — Dp(ks) =1 < fa(p— ks — 1.

1 < —aapks + fs(p — 1)ks = (—aap + f3(p — 1))ks = (p — f3)ks.

256 = fs <p Fy =257 p=F3 . a3 =as-Fy

azks = axF3ks = (f3)%@(ks) — 1 = fap(ks) — 1.

kg =1 as
v. ks >1 ks P ks = pky
azpks = fap(pka) =1 = fa(p — Dp(ks) =1 < fa(p— ks — 1.
1 < —azpks + fa(p — Dks = (—azp + fa(p — 1))ks = (p — fa)ku.
p—fa>0 p>fa+l. Fi=fi+1 p=Fy
asky = asFyky = fa(p— 1) (k) — 1.
ks =1 ay = FoF1 Fa F3Fy
Iy =fs+1
6.2



7 r=2,4,8

xr=2° , a=2p (p

7.1 z2=6

a = 2(p(a) + 3) k=¢(a)+3 ,a=2k.

p(a) = p(2k) =k - 3.
a=2kk=2L(L: )

©(2k) = (2T L) = 2°p(L) = 2°T'L - 3.

3=2T1L — 2°p(L) = 2°(2L — (L)).

e=0. k=1L p(2k)=k-3
k—pk)=3.
k 75 k_(p(k)
k—o(k)=3 k=9 . ,a=2x9=18.
z=06 a=18
8 =53
=25 a =165

7

a = 64005 =3 x 5 x 17 x 251

r=3 a =195 .z=5 )

©(2k)

o(k)



9 =1

a—2p(a)=1
a—2p(a) =-1,0,1;0(a) — 2a = —1,0,1

5: a —2¢(a) = —1,0,1;0(a) — 2a = —1,0,1

a— 2p(a) a ‘ a(a) — 2a a
-1 -1 2¢
0 2¢ 0
1 1
o(a) —2a=-1,0,1 a (almost perfect number),
number) (pseudo perfect number)
10 9 16
a—2p(a) =x r=9,10,11,--- ,15

Tr =

6: a—2p(a) =9

a p(a)
105 [3,5,7] 48
585 [32,5,13] 288

15561 [32,7,13,19] 7776

a < 200000

(1) a

2 a 3 2

3)a 3 1

10

(perfect



10.1 a—2¢(a) =10 a
z =10 a < 200000 a =50
a = 2p(a)+ 10 a .a=2%%,(k: )

2¢k = 2¢¢(k) + 10.

,e=1 k=) +5.
k— (k) =5 k25 a =50
10.2 a—2¢(a)==x x=11,13
z=11,13 a—2p(a)=x a . ,

10.3 a—2¢(a) =12
z=12 a < 200000) a =36 .
, =10 a=2%,(k: )
2k = 2°p(k) + 12.

e=2 . k—ok)=3.k 3=k—ok) >k
k<0. k=9 a=2x9=36

7 a—2¢p(a) =14 a

a p(a)
30 [2,3,5] 8
98  [2,77] 42

x=14 , =10 a=2k E—o(k)="7

k 7=k — (k) > Vk.

k<72 , 49 a=98.
k k<47 k=15
10.5 a—2¢(a) =15 a

11



8 a—2p(a) =15 a

a v(a)
495 [32,5,11] 240
975 [3,52,13] 480

61455  [3,5,17,241] 30720
192015 [32,5,17,251] 96000

10.6
a—2p(a) =2 x=2°
z 2L a=2 (e >0,k : )
2k = 2°p(k) + 2L.
L k

z 9
11 2 3
a 2 3 , a=2x3"e>0,n>0)

pla) = p(2°37) = 237"

3p(a) =3 x 273771 = 23" = q.

3p(a) = a.

a 3 a= 3f‘L(L )
3p(a) = 3p(37 L) = 3p(37)p(L) = 2 x 37 ¢(L).

a=3"L 3p(a) =a 2x3/p(L) =3'L
L=2°. a=3L =237

1a=23" (e,f>0) 3p(a) = a.

12 a—3p(a)=1=z

a—3p(a) =0

12



9: a—3¢p(a) =z

a a — 3p(a)
6 [2,3] 0
30 [2,3,5] 6
42 [2,3,7] 6
66 [2,3,11] 6
78 [2,3,13] 6
102 [2,3,17] 6
60 [2,2,3.5] 12
84 [2,2,3.7] 12
132 [2,2,3,11] 12
156 [2,2,3,13] 12
204 [2:2,3,17] 12
90  [2,3,3.5] 18
126 [2,3,3,7] 18
198 [2,3,3,11] 18
234 [2,3,3,13] 18
306 [2,3,3,17] 18
120 [2,2,2,3.5] 24
168 [2,2,2,3,7] 24
264 [2,2,2,3,11] 24
312 [2,2,2,3,13] 24
408 [2,2,2,3,17] 24
12.1 24
rz =0 a 2 3 6
6,12,18,24, - - -
6=2x312=2"%x3,18=2x3%24=2°x3
2 3
r<24 2 3 ,a—3p(a) =x xp
13 2 3
m=2°3% (e > 0,( > 0) .p 23 a=mp

13



3p(a) = 3p(mp) = 3p(m)p(p) = me(p) =m(p—1) =a—m.

,2 a
a—3p(a) =273 (£>0,(>0). (5)
a>2 o(a) a = 3p(a)+2°3¢ . a=2°L,(L>1:
) 3¢(a) = 3p(2°L) = 3 x 2" o(L),

a—3p(a) = 2°L—3 x 2°¢p(L)/2 = 2°3°.

o(L)/2
L —3p(L)/2 =2°7¢3¢.
Le—e=0 .
L—3p(L)/2 =3¢ L 3 : L=3'M,3 M
3 M — 37 p(M) = 3¢.
n=¢—/f
M — (M) = 3".
0<n,M>1 n>4. a— (a)
n=20 M—-p(M)=1. M D a=2°L =2°3/p.
ii.e—e>0
u=c—e L —3¢p(L)/2 = 2"3¢.
L , 2ugt 3p(L)/2 . o(L)/2 L
L =p : e(D)2=pHp-1)/2=p" " lo,(p=1+2,0: )
p? — 3p9~y = 2u3¢.
po3 D =3. a=2°L =239, a—3p(a) =0.
22=23 (e,f>0,f<3)a=3p(a)+=x p. p>5
13.1

z=2x3%2x3

*
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10: a — 3p(a) =2 x 33

a p(a)
270 [2,33,5] 72
3718 [2,3%,7] 108

504 [2,33,11] 180
702 [2,3%,13] 216
918  [2,33,17] 288
1026 [2,3%,19] 324
1242 [2,3%,23] 396
1566 [2,3%,29] 504
1674 [2,3%,31] 540
1998 [2,3%,37] 648

11: a —3p(a) =2 x 34

a ¢(a)
690 +  [2,3,5,23] 176
810 (2,34, 5] 216
1122« [2,3,11,17] 320
1134 [2,3%,7] 324
1782 [2,3,11] 540

2106 [2,3%,13] 648
2754 [2,34,17] 864
3078 [2,34,19] 972
3726 [2,3%,23] 1188
4698 [2,3%,29] 1512
14 25
24
a < 2001 z =26 z =41 a = 100000

15



12: a — 3p(a) = z,x > 26,z # 36,48

a wla) a—3pa) =2z
1610  [2,5,7,23] 528 2%
4060  [2,2,5,7,29] 1344 28
150 [2,3,5,5] 40 30
1330 [2,5,7,19] 432 34
1190 [2,5,7,17] 384 38
8680 [2,2,2,5,7,31] 2880 40

16



